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गिणत 
MATHEMATICS 

(211) 
िशक्षक अ�ंकत मलू्याकंन प� 

TUTOR MARKED ASSIGNMENT 
ekUNa gauNa: 20 

Max. Marks: 20 
 

िट�णी:  (i) sava- Pa`Sna saÜDivaNÜ AavaSyak Aahoº Pa`%yÜk PàSnaacÜ gauNa %yaa PàSnaasamaÜr dSa -ivalaoo Aaho%aº 
Note: All questions are compulsory. Marks are allotted in front of each question. 

(ii) ivaVaqyaa -nÜ ]<arPai~kocyaa Paihlyaa Paanaavar AaPalaa naÜMdNaIËmaaMk¸ naava¸ jyaa koMd̀amaaf -%a ParIxÜsa 
basaNaar Aaho̧  %yaa koMd̀acÜ naava AaiNa ivaYaya ilaihNÜ AavaSyak Aahoº 
Write your Name, Enrolment Number, Study Centre Name and Subject on the 
top of the first page of the answer sheet. 

 

1 . KalaIlaPÝkI kÜNa%yaahI eka PaS̀naacÜ ]<ar Vaº             2  
       Answer any one of the following question. 
  

(a) 
i) 3 / 5 AaiNa 4 / 5 yaamaQaIla  kÜNa%yaahI Paaca PairmÜya saM#yaa saaMgaaº 
ii) sava- Qana PaUNaa - Mk saM#yaaMcaI vaga-mauLo APairmÜya Aaho%a kaÆ jar %asÜ nasalyaasa jyaa saM#yÜcÜ vaga -maUL PairmÜya saM#yaa 

Aaho¸ ASaI saM#yaa saaMgaaº                                        (QaDa 1 Paha) 
i) Find five rational numbers between 3/5 and 4/5.  
ii) Are the square roots of all positive integers irrational? If not, give an example of 
the square root of a number that is a rational number.                   (See Lesson 1) 

 
      (b) saÜPÜ $Pa Vaº 

(i) 3(a4 b3)10 x 5 (a2 b2)3 

(ii) (2x -2 y3)3                       (QaDa 2 Paha) 
(b) Simplify the following 
(i) 3(a4 b3)10 x 5 (a2 b2)3 
(ii) (2x -2 y3)3                                                                (See Lesson 2) 
      

2. KalaIlaPÝkI kÜNa%yaahI eka PaS̀naacÜ ]<ar Vaº                     2 
Answer any one of the following question. 

 
(a)  
(i) PadavalaI saÜDvaaº : (5m – 3) / 4 + (3m – 2) / 5 = (m + 6) / 7 
(ii)  dÜna saM#yaaMcaI bÜrIja 82 Aaho AaiNa %yaaMcaa gauNaakar 1456 Aaho¸ %ar %yaa saM#yaa kÜNa%yaaÆ  

                                                   (QaDa 3 Paha) 
a) Solve: (5m – 3)/4 + (3m – 2)/5 = (m + 6)/7 
b) The sum of two numbers is 82 and their product is 1456, find the two numbers. 
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(See Lesson-3) 
 b)   (x3 + 2x + 1 )/5 – (7/2)x2 – x6 hI bahuPadI Aaho̧  %ar 

(i)   yaa bahuPadIcaa Gaa%aaMk saaMgaaº 
(ii)  x3 caa sahgauNak saaMgaaº 
(iii)    x6 caa sahgauNak saaMgaaº 
(iv)      Acala  Pad saaMgaaº              (QaDa 3 Paha) 
 
b) For the polynomial (x3 + 2x + 1)/5 – (7/2)x2 – x6, write  
(i) the degree of the polynomial  
(ii) the coefficient of x3  
(iii) the coefficient of x6  
(iv) the constant term               

  (See Lesson 3) 
3. KalaIlaPÝkI kÜNa%yaahI eka PaS̀naacÜ ]<ar Vaº                                   2 
  Answer any one of the following question. 

(a) AakR%aI 1 maQyÜ XY AaiNa roK MN ParsParaMsa O yaa ibaMdU%a Cod%aa%a¸ jar m∠POY = 90°  AaiNa  

a : b = 2:3 %ar C caI ikMma%a kaZ aº      (QaDa 10 Paha) 
 
 
 
 
 
 
 
 

In Fig. 1, lines XY and MN intersect at O. If ∠POY = 90° and a: b =   2 : 3, find c. 
            (See Lesson 10) 

 
 

 
 
 
 
 

(b) AakR%aImaQyÜ ∠PQR = ∠PRQ %ar isaw kra kI ∠PQS = ∠PRT   
(QaDa 11 Paha) 
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 In Fig. 1, ∠PQR = ∠PRQ, then prove that ∠PQS = ∠PRT.      (See Lesson 1 1 ) 
 

  
 

 
 
 

 
 
4. KalaIlaPÝkI kÜNa%yaahI eka Pa`SnaacÜ ]<ar 100 %Ü 150 SabdaM%a ilahaº                 4         
     Answer any one of the following questions in about 100-150 words. 
  (a) eka samaaM%arBauja caÝkÜnaacaa ek kÜna 80° Aaho¸ %ar %yaacyaa [%ar kÜnaaMcaI ikMma%a kaZaº 

    eka Aaya%aacaa kNa - %yaacyaa eka baajaUSaI 25° caa kÜna kr%aÜº %ar %yaacyaa dÜnhI kNaa -maQaIla  laGaukÜnaacÜ maaPa   
    kaZaº 
Find all the angles of a parallelogram if one angle is 80°. 
In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute angle 
between the two diagonals. 

(b) samaaM%arBauja caÝkÜnaacyaa kÜnaaMcÜ duBaajak Aaya%a %ayaar kr%aa%a¸ ho isaw kraº 

  samalaMba caÝkÜna ABCD maQyÜ¸ 
  AB∥ CD, ∠ A = 55, ∠ B = 70° 
  %ar ∠ C AaiNa ∠D caI ikMma%a kaZaº 

       ³varIla  dÜnhIsaazI QaDa 13 Paha´ 
                   

Prove that the angle bisectors of a parallelogram form a rectangle.  
In a trapezium ABCD, AB∥CD. Calculate ∠C and ∠D if ∠A = 55° and ∠B = 70° 

     (See Lesson 13 for both) 
  

 
5. KalaIlaPÝkI kÜNa%yaahI eka PaS̀naaMcÜ ]<ar Vaº                 4         
     Answer any one of the following questions. 

(a)  
(i) va%au -Lacyaa vyaasaalaa kaZlaolyaa sPaiSa -ka ParsParaMnaa samaaM%ar Asa%aa%a¸ ho isaw kraº 
(ii) dÜna ek koMd̀I va%au -Lacyaa i~jyaa AnauËmÜ 5 cm AaiNa 3 cm Aaho%aº %ar lahana va%au -Lalaa sPaSa - krNaa,-yaa maÜzyaa 

va%au -Lacyaa jaIvÜcaI laaMbaI kaZaº                           (QaDa 15 Paha) 
a) AakR%aImaQyÜ DE || AC AaiNa DF || AE %ar isaw kra kI¸ BF / FE = BE / EC. 
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a) In the figure 3, DE||AC and DF||AE. Prove that BF/FE = BE/EC. 

 
 
 
 
 
 
 
 
 

a) AakR%aImaQyÜ ³Ëº4´ roYaaKMD AB laa ibaMdU A AaiNa ibaMdU B maQaUna samaana laaMbaIcÜ AD AaiNa BC ho laMba kaZlao 
Aaho%aº %ar roK CD ha roK AB laa duBaaga%aÜ¸ ho isaw kraº    
 
 
 

 
 
 
 
 

     (QaDa 14 Paha)    
a) Prove that the tangents drawn at the ends of a diameter of a circle are parallel. 
b) Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of 

the larger circle which touches the smaller circle.                                 
     (See Lesson 15) 

 
b) AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB.  
         
 
 
 
  
 
 
     (See Lesson 14) 

6. KalaIla Pak̀lPaaMPÝkI kÜNa%aahI ek Pak̀lPa %ayaar kraº 
     Prepare any one Project out of the following projects given below: 

a) KalaI idlaolyaa maaih%aIva$na vaarMvaar%aa AalaoK %ayaar kraº 
  

vagaa-M%ar 1 0-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 
 

vaarMvaar%aa 4 6 8 1 0 1 2 4 7 5 
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b) [º 8 vaIcyaa 30 ivaVaqyaa-cÜ r>gaT KalaIla PàmaaNÜ Aaho%aº: 

A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
      A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 

  varIla  maaih%aIcaI maaMDNaI vaarMvaar%aa saarNaImaQyÜ kraº 
         varIla  maaih%aIva$na kÜNa%aa r>gaT sava -saamaanya Aaho va kÜNa%aa gaT duima -L Aaho̧  ho saaMgaaº 
    ikMvaa 

a) 40  kamagaaraMcÜ rahNyaacÜ izkaNa %Ü karKanaa yaamaQaIla  AM%ar ³ikmaI maQyÜ´ PauZIlaPa`maaNÜ Aahoº 
 

 
  varIla  maaih%aIva$na vagaa- M%ar 5 AsalaolaI vaarMvaar%aa saarNaI %ayaar kraº Paihlaa vagaa- M%ar 0 - 5º ³yaa vagaa -%a 5 

vaarMvaar%aa Qa$ nakaº´ 
 saarNaIva$na %aumhalaa kÜNa%aI zLk vÝiSaYTyÜ Qyaanaa%a yÜ%aa%a¸ %Ü saaMgaaº 

b) 1 5 %Ü 44 vaYÜ- vayaÜgaTa%aIla  s~IyaaMcÜ AajaarPaNa AaiNa maR%yaU ivaYayaI eka jaagai%ak savÜ -xaNaa%a KalaIla  baabaI 
AaZLUna Aalyaaº ³AakDo %  maQyÜ´ 
 

AºËº karNa s~I maR%yaU dr 

1 . 

2. 

3. 

4. 

5. 

6. 

baaLM%aPaNa samasyaa 

maanaisak samasyaa 

[jaa hÜNÜ 

hRdyaivaYayak samasyaa 

Ca%aIÀSvasanasaMsqaa samasyaa 

[%ar karNÜ 

31 .8 

25.4 

1 2.4 

4.3 

4.1  

22.0 

 
i) varIla  maaih%aI AalaoKacyaa sahayyaanÜ daKvaaº 
ii) jaagai%ak s%aravar kÜNa%yaa AarÜgyaivaYayak samasyÜmauLo s~IyaaMcÜ maR%yau maÜzyaa Pa`maaNaavar hÜ%aa%aÆ 
iii) AaPalyaa iSaxakaMcyaa mad%aInÜ¸ kÜNa%Ü dÜna Pa`mauK GaTk ³ii) maQaIla AarÜgyaivaYayak samasyÜsa karNaIBaU%a zr%aa%a¸  

       %yaacaa SaÜQa Gyaaº                         (varIla  dÜnhIsaazI QaDa 24 Paha) 
a) Draw the frequency polygon for the following data 
 
Class Interval 

 
1 0-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

Frequency 
 

4 6 8 1 0 1 2 1 4 7 5 

 
b) The blood groups of 30 students of Class VIII are recorded as follows: 
             A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
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             A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 
 
   Represent this data in the form of a frequency distribution table. Which is the most 

common, and which is the rarest, blood group among these student? 
OR 

 
a) The distance (in km) of 40 engineers from their residence to their place of work were 

found as follows: 
 

                
 

Construct a grouped frequency distribution table with class size 5 for the data given 
above taking the first interval as 0 – 5 (5 not included). What main features do you 
observe from this tabular representation? 

 
b)  A survey conducted by an organisation for the cause of illness and death among the 

women between the ages 15 – 44 (in years) worldwide, found the following figures         
(in %) : 

        

S. No. Causes Female Fatality Rate 

1. 

2. 

3. 

4. 

5. 

6. 

Reproductive health conditions 

Neuropsychiatric conditions 

Injuries 

Cardiovascular Conditions 

Respiratory conditions 

Other Causes 

31.8 

25.4 

12.4 

4.3 

4.1 

22.0 

 
      (i) Represent the information given above graphically. 
      (ii) Which condition is the major cause of women’s ill health and death worldwide? 
 

 (iii) Try to find out, with the help of your teacher, any two factors which play major role 
in the cause in (ii) above being the major cause. 

     (See Lesson 24 for both) 


